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A mase m ig attached toa thin wire and whirled
i a vertical civele, The wivs 1s mest like ]y tn hraak
when: .

{1} the masaisat the higheet point

(¥ thewire s horizontal

{3  the massiz atthe lowest point

(4] inchined atan angle of BIF from vertical

lonized hydrogen arnms and re-particles with same
momenta enters perpendicular to a conatant
magnetic field, B. The ratio of their radii of their

patha ry o r, will be -

(4 n-i
2 1:2
) 4:1
(4 1:4

Body A of mass 4m moving with apeed w collides
with another body I of mass 2m, at rest. The
colliaion iz head on and elastic in nature. After
the eollizion the fraction of encrgy lost by the
colliding body A iz :

i %
® g
® 2

In a double sht experiment, when light of
waveleneth 400 nm was used, the angular width
of the first minima formed on 5 Boreen placed 1m
away, was found to be 0.2 What will .h;.:- the
ﬂnnu]_ur width of the first minim a, if the E;lli-'l'e
experimental apparatus is immersed ip wator T
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In which of the follorring devices, the eldy current
affect is not uzed 7
i1 induction furnace
(21 magneticbkraling i Leain
i3 electromagnoet

(4 glectric heater

A soap bubble, huving radiug of 1T mm, is blown
from a deterpent solution having o surface tension
af 2.5 % 102 Nim. The pressure inside the bubble
ajuala at a point Zy, belew che free surface of water
Tuking g=10 m/ia

in & coatainar.

density nf water = 109 ka/m®, the value of 28 ;
(1 100 cm

2 1em

(30 1oem

o hem

Which colour of the light has the longest
wavelenpth ?

M red

21 blue

{8 green
A1 winlel

Adisc ol radivzg 2 m and mass 100 kg rolls vnoa
horizontal flocr. Ita centre of masgs has speed of
2l emfz. Mow much work is necded ta stop it ?

(1) 3d

(2} 30kd
iy 24
4 14J

The displuuemcm of a particle executing simple
harmonic motion iz given by

¥ =g+ A el - T coat,

Then the ampliendy of its oscill ation is given by :

M g +Ja? g2

(2) u"a_'aa_i- ﬁ
() ,I,"A_ﬁ F (A + BF.

4y A+B
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T gimnilar thin equi-convex lenses, of focal length
feach, are kepl waxially mn oonract with each ncher
auch that the foesl length of the combination ia
F.. When the apace bolwesn the two lenaea ia
filled with glyearin iwhich has the same reltuslive
index (i = 1.5 ax that ntglaas) then the equivalent
toeal length is Fo,, The ratio @ Fy will be :

Iy &:1
i2) L&
[ 2:3
4 54

Inceense in temperature of g gag lled ina container
would lead Lo

1) inercase in itamass

{#  incrvase inita kinetic energy

) decroascinils pressure

4  decresse inintermaoleculor distane:

An electron is accelerated through a potential
difference of 10,000 ¥, [t de Braglie wavelength
. {nearly) : (m, =9x 10~ 3 kg)

1) 12.2% 11~ 13 m
)  122x10-1Egy
@ 123x10-Mm
@ 122 nm

A eopper rod of A8 em and an aluminium rod of
Iunlmnwn length have their increase in length
mdepm_demuﬁncmaaeintﬁnJ.peran-e. Thelenzth
of aluminium rod iy - Gy = 1.T= 10-8 K -1 gnd
ey =E82x10-PE-1

(1l &8em
2 118.89cm
@) BRom
i1 68 cm
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ANEWer in the context with

Whean _r,hs: lrght Taye undergo two internal
reﬂuchmm M a water drap, g qemn& ¥
rainbow is formed, o .

2] The order of col ;
. DUFE 18 Fovppend
recondary rainhaow, #versed in the
@} Anobsorver cun :
: B3 B I'E'lﬂ.h;_'lw ;
1% towards the aup, when hia front
W Rainbow is acombined effagt of disperaion

refraction and reflecting of sunlight
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A hndy weighs 200 N on the surface of the carth.

How much will it weigh half way dow to the cenfrd
of the earth ¥

) 160N

(% 200X

() 250N

(4 100N

9ix gimilar bulbs are conm peted Aas shnwp in the
figrre with a [C souree of emf B, and zern internal
remstance,

The ratinof power consumption by the bulbs when
{i) all are glowing and (11} in the 5ituat_i-:ln when
o from ssctinm A and one from zection B are
slowing, will be

—— —3
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Tora p-tipe semiconductor, which of the [ollowing
atatements in true T -

(1  Electrons are the majority carricrs and
trivalent utomy ure the dopanta.

] Holes are the majority earriers and trivalent
atoma are the dopants.

{.d) Holes are the majority carriers and
pentavalent atomea are the dopants.

(1)  Electrons are the majority carriers and

pentavalent atoms are the dopanta,

Average velocity of a particle executing SHM in
ohe complete vibration i :
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r

aw melal aphere of radius R s uniformly

il
Vi lortric field due to the aphare at a

rhargeid. The &
digtance » from the centre !
inereages as ¥ oincreases for r < R and for

(1
r= I
2 spro ns ¢ increases for r < R, decreasas ag F
¥ ineresscs forr =R
(4 zoro As T inerenases [of v < [, increused 48 T
increuzes for e = H
{4  decieasug AE T increages for ¢ < Roand for

r=It

Ar 2 point A on the carths surface the angle of
dip, fi= 4 25% Ata point B on the earch’s surface
the angle of dip, &= —26° We can interpret

that ;

i1y A and B are both located in the northern
hemizphere, .

A iz ncatod in the southern hemisphere and

2] _
B iz Incated in the porthern hemisphere,

(@ Aislovatedin Lhe northorn hm'nis._'p]'iere and
T 1w located in the soulhern hemiaphers.

4y A and B are hoth located mn the southern

hemizphare.

The total cnerey of an electron in an atom in an
crbitis — 3.4V, Tra kinetic and polentiol ehergies
are, respermively

(17 —d4deV, —J4eV
& —3deV, —68eV
o 340V, HHeV
(M Jdev, dd4eV

In total internal rellection when the angle of
ineidence is equal Lo the critical angle for the pair
ol media in contact, what will be angle of
relraction ?

18

i

(8 egualto angle of incdence
iy oace

The work dnne to raise a mass m from the surface
of the carth fo o height b, which iz equal to the
radinuz of the earth, ia -

{1 mgh

(2 2mph

) L mel
o E
b

{4 mgH
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Ly
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q chot from the bortom of a ]'-"-"F_r o
Mape kept Bt a0 angle 0% wiyy
viel @ disfance {Tl along h,
‘hen the inclination 12 ecreased b,
Dtltﬂh"'ﬂe ahject is shot with tho sam,
] distanes, Then x, )

When un object i
amuooth inelined plan

horizgontal, it can {rel
plane.
30° pud the sam
it can travel Xa

velooity,

will bz

(M 1:42

@ N2 35,
(B 1:43

M 11243

w-parcle eomeists ol
# protons and 2 neutrons orly

(1)
i 2eleclrons, 2 protons and 2 neutrons
i 2electrons and 4 protons only

41 2protons only

The apeed of a swimmer 1 stall water 1s 20 miz.

The speed of river water ia 100 m/= and is flowine ol
due eaet, Ifhe iz standing on the south banl and
wishea to crnar the river along the shorlest path,
the angle ut which he should make his strokes

wx.t. narth is given by :

(1)  B0°west
&

i 60 wesl
(4} 45° west

A particle movine with veloeity ? macted by three
forces shown by the veetor triangle PQR. The

velocity of the purticle wil] -
L'l
o
E "
1) incroase
i2)  decresge
3 remain conetant

4 > 1 1
M) change aconpd g tothe smallest foree ER
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a1 0 radfs
2] %ll_]r'raﬂ-rﬁ
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Twa particles A and B are moving in 1lnifr_1rn_:_t
vircular motion in concentrie circles of md'.u
ry and v with speed 1, and vy respectively. Then'
time prriod of rotation is the aame, The ratio af
angular speed of A to that of B wall be :

1y Falln
(2} vy up
3 tp Ty
L B

A block of mass 10 ke iz in contact apainst the
mnner wall of a hollow cvlindrical dram of radius
1 m. The coefficient of friction betweon the hlock
and the inner wall of the cylinder 1= 0.1, The
mirimum angilar velocity necded for the eylinder
to keep the block stationary when the eylinder is
vertical and rotating ahout 1t axiz, will be @
{g= 10 m/s™

(1) 1o radfs

CHa
] ™ radie

Y
4
Twao paralle]l infinite line charges with linear
charge densities =, C'm and — 5 C/m are placcd
at a distance of 2R in free space, What is the
wlectric field mid-way between the two line

MWrradis
Lk 7 radia

charges ?

(1) zero

{2) _I_f: INIC

(3) _—:I;R NAC

@ -h:nn NIC

Two point charges A and B, having charges
+ and — & respectively, are placed at certain
distance apart and foree acting between them is
T, If 25% charge of A is wansferred to B, then
foree betweon the charges hecomes :

L T
aF
2 17
18F
] o
4T
(4) 3



H r.r.iL "-_j]__i:}'l

L 10 ; =t 7 rmd L__‘-'—;
88, 2m 3 1L'l_'j-‘l“ = A Wi R T L A ap. A small ol il HFES 1 Eil}’c"ﬂ L:—ﬁ n}jh{mi

C B FERE T T v B o T Tt S . ¢ it ol 3 Tl lang o 43
¢ iy prisenl near the botta = 10 mds2, the rale of fly,

1

441,

41,

T T 4 mm® A i S RS O
EE E) =10 mis? BF g A fon £ wafe
= Y T ET Ev

(1 1286= 10 S mlis

2 R9wlIn Hmls

G BT n-Omls

(M) Bdx 0 Sl

r+6 Y
iT
7o
| Al _l:_?LEDm
s
4]
0 =
s 7T
B I

=

A ¥ wm 1 e e i T

i1y AND
@ OR

(Al NAND
4 NOR

Freferfiaa 4 4 fvg s i 4, ey fem g0 =
T W T T i & 2 T == A
T7

(1y  =ETHEE

@ fEEmfew (TEe)

¥ TOEEE

(1)  HAEHEENE (HEsTEET )

THTET SAFA 0.05 m? F 500 T w5 v g
531078 T F TRl Traerg 69 3 oy &)
= 5 FUEE F AT A, 0.1 o F 30 TR At
e TR A, 90° 9 T fem @ E A e

i 2y

21 02V

@ Zx10TMW
i 002V

18

A1),

41.

nfheight 2 m. 'aling £

afwater Lhrough the open hole would be nearly,

1 12ExloTimds
@ &8x o fmla
0 2eax10"9mds

i 64x10"9mVa

oy ik
".-.r e
[ 4 | SLED (V)
iR
| Ll =
Fi
01

The correct Boolean operation represented by Lhe

cieewil dipgram drawn iz
(1 AND

Z) AOR

P NAND

iy NOR

Inwhich of the lollowing Procosrea, houat iz neither
abaorhed nor releszed by a gystem ?

M izcthormal
2 adiabatic
iachare

iacchoyie

A SO0 turn coil of effective area 0.05 m? i keps
pt:—rpemiwulnr t0 8 magnetic feld §w 10-5T.
When the plane of the enil 18 rotated by 90° around

uny ufita coplanar axiy in 0 ; .
in the coil will be - L&, the emf induced

n ay

2 0ev

M Zxip—dy
4 0.02%
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T-I?EEEZEE - L ,HT.-[—'_
T g i, AL SO, SIS
42 @ﬂaihﬁﬁ"‘mm =1 f £ w1 T
]
:I..Iu
_ Pi=
2| K=
/
| =
"

4.

it T8 1 P T Oy - RE R
Fif)= —Hcc:uzﬁt,_‘".ﬁy mﬁzﬁ'

by s

I_E'] .'r'{c}= 45"'&[‘-.2.! |E|T:'T:"'mﬁ%
= l-.::.‘r.ﬁl:.kl k] e ol
m  ¥=3 U”“*LT TRl ym T E

e

k!

v NEl = ﬁnm(— T v

i ] 2 J T ymHE

20 b T F TR e giEe JuaiE = G
B B s = et o B A E T e O e B e
frmEsvisF St R fiEm O = 8 T9es 9 &
WAl = 9, S it | e e s
YT AT T

1 6 pA
2r 60 pAL B0 A
i 60 WA T
CTI

%uﬁmﬁ' A wferdf &, B, € 3R D =t wm
o T AT F Wi w5 1%, 2%, 8% A 4%

2 ph
B T Y 1 HY, e X = ﬁa.-gE_s' , 1 arfiemm
(7% 1
st wfe B
'l H i
(1 iy |3
1] kli—iJl}f
2 18%
() L0%.
€ 10

P1

The radiug of circle, the period of revolution, initial
posilicn and senee of revalution arc indicated in
the fg.

42,

Pit=0)

\*\T=4$

- prajection of the radins vector of rotating particle

I is:
(1" vi{fi= -3 coswt, where yinm
[t
(@ pith=4gin l_ﬂ_ | where ¥ inm
A

(3wt ;
ri=3 cos| ° 5 | where yinm
Y il

-

. L
() rith=3 MS[?J , where ¥ in m

43. A purallel plate capacitor of capacitanece 20 wF is

being charged by a voltage source whose patential
i3 chunping at the rate of 3 Vis. The conduction
current through the connecting wires, and the
displacement current through the plates of the
capacitor, would be, respectively ;

(1} zero, 60 wA

21 B0 wA, G0 b

@ 60 wA, zero

4

EOIN, ZAr

44.  lnanexperiment, the percentage of error accurred

m the messurement of physical quantities A, B,
and Dvarve 1%, 8%, 3% and 4% regpectively, Then
the maximum percentage of ervor in the

Al pH
meagurement X, where X = . will be :
ATy
'l 5 ®
= |o4
L lnax!
2y 16%
(3 — 10%
(] 10%%



P1
4.

46

12

T R ¥ fee dermn A d FR
T T | e i, A T T A
& = A gl d % sy o e e AR
i fom e g S T 7

El—ﬂ.
(h | A

3 S

) s

Ue-2 TH- 4~ 5 T (o) 797 T (o) e =
F@T% ;

(1) 100 == A G ¢ e
{‘2_] R o AT 04T & e TR
(3 11 o HEHE A9 2 o AT

) 13 o S T A S o ey T

[

Hindivkrgi

4 eyvlindrical conductor af radiue B 15 ¢alj"5ﬁng 4 I*
ﬁmﬁstant current. Ihe plot of the magnitude g .
the magnetic lield, B with the distance, d, Irom
the cenrre ol the eanduetoer, 18 correctly
represcnted by Lhe figure -

B 1
|
() R
R
B
Y
(2 \\_\
B 4
B
() / ﬂ"\
T 4
E e
(1 / E
R d

The number of sipma (o) and pi {7 bonds in
pent-d-en-4-yne iz -

(1) l0obondzand 3o honds
) Sobondsand 5 hands
(3 L1 orhonds apd 2 7w honde

4 13 rhonds and ne bord



13 Pl

._ﬁ;ff?ﬂl' e o 8 8 k. 47. The structure of intormediate A in the following
f:r-' TEACTION, 18 ©
47
CHs ’,.-"GHEI
W UH C’Hx\ OH
Ul el CH,
| i + __'_,-‘ o ___’,-" I '_,.-"' 0
7 1 PLa- HY | + H4 }l\{:l{ﬁ Y2 i HT /JL
| HO Ly | =a |+ 5,0 A NeH,
. iy % i
CHy CH,
.
il | (L)
.
'?-H CH
H,C-C-0—0O—H H,O~C=0-0-H
CH, CH,
|
0D-0-CH : - LH
|
(3 @ CHy @
HC-
2 (S CH, ™ CH,
i) %\l‘ (4)
.




P 14
8. IR wt w S
5}
8, % D
i n:fr—jl_ltr—]‘_:l.r=l:}
O i) q"{:,
o, ‘ﬁ‘ 0
gy U=DBr—Br_grg
0 =g
D'_ 1:'
D e
i ﬂﬂ-. ] .--'!.':I
(3 ?{;}Er -%r—iir—[]
: g O
0
'D_% ,:;El
O=Br—Hr—Br -7
{'d.] P | e
) G 0
43 Ad, &p, 5f T ep Furw et wa e O s

al.

o1

(1} 3F>6p>ap>4d
i2)  Bp=5i>Sp=ad
{ Gp = Of = 4d = Gp
(4} Sl=6p=4d=35p

Fe sffranat] & % S 4t s st
7

my 2Cut — Cut 4oyl

) OMnO{T+ 4T s AMAO] + Mn0), +2IL,0
|:‘-_-.] Mﬂﬂ_: _'.—JIL:,. Hg.r'-'fﬂﬂ.j + T'n'fﬂ“a + I:IE'
@ 2Mn] +3Mn® £ 2H,0 - SMu0, +1HT
=1 | 4wt e g

(1) =& () 79T ()

2 {a), (b T (c)
(E {ak (o) T {d)
) TS (o) T ()

TS ST H, 300 K W 0F 79 2 =1 0% fon
W TE s, 0.1 L H 0.25 L 7% 700 Wi 3
g zm e v E

(e e # 1 et 7w = 1004

48,

44,

(1 —a0d
(2 5k
(3  25d
(4) 30

G

e T
shromonctacxide s ;
The correct ety uoLure of tribTo =
0, o o
{1 =PRr—br— 1-§:=={}
lt:' I'_]‘-:ﬁ-"‘ [|!|. 0
{1
Oy [ #D _
0 =br— ]]:'--Eir— (}
(2 # i 3 .
] ﬂ s
Ll
0. i &
_':'—EI—EI—E-1'=[']
) — 1 N
0 o Y
&
o, b o
{}=Hr—Br- Br— 0
W 4 1 %
& a0

£d_6p, of and G orbicals are urranged 1'n_ t.hE proer
of decrearing ensrpgy. The correct option 1s:

(0 b= Gp = bpo=dd

% Ap=af=ip=d4ad

3 Gp=al>4d > bp

M Sf=fp=d4d=0p

Which ol the following reactions are

digproporticnation reaction ¥

20wl — Ot 4oyt

(k] : .’-t.‘n.'lu[l'i_— 4Ht - 2MnlY, +Mnd, +2H,0
el ETﬂ'l-'lll'l:'.L ;I:".}, H‘-...Mnﬁi + I'!'T“Gz + DE
@) 2Mn0, +iMa® “2H,0 - 5MaQ, <405
Helect the correct aptom from the following ;
(L () and (W) only

(2 {u), (b and ()

B {a), (cyand (d)

d {a)and (d) only

Under isnthermal] vondition, o gas at 300 K
expands from L1 L to (.25 1, against a constant
ﬂxtelrnal predsure of 2 bar, The wor I done by the
#aE 15 "

IGiven that 1 L hay = 1000

(1) =304
(2 Bk
{3 2R
il 30



e
R

i

fik-

3.

g TR E

i
(&
el
7 afufea & fan
s+ faq) + 217 a0 = 2FeT aq)  Lhjag)
a8 U EZy=0.21 VE1 HA Al =t o
i Al (4,67 ) B
(fi T E, S R T =96500 € mol — 1]
- d45.32 kd mol !
2316 k] mol !

46.32 kd mol !
2316 kd mol !

TEEE RS
A
T B E

(I
i2]
(3
4]

= e W AL (ATY) T oaEm wER
AR H O T MEEnE 5w 1§ TE i
7 | (WD) T ST R MOE

i T

@ Mp

i@ Ca

(4] r

o

=1 war o T A T g diiEnE

H,C CH,

't el ~H

2%
Na | 29 =1
1, Pd / €, FAmem

YnfHO
Hg2™ FH*, H,0

(1
()
()
(4}

H.E (E=0), 5, Sc, Te 41 Pu) % fom ardly =nfam
W

(1} H,8 < H,0 < HjSe = HyTe < Hal
@ Hy0 = HyS = HySe < HyTe < Hylo
i#  H;Pn=H,Te< H,Se < Hyd < Hal
) H,8e = H,Te « HyPo < H, 0 = 43

34,

B0,

.

E L

Amoag Lhe following, the one that is not a
green house gas15°

(1) mitrous pxide

{7y methane

{3 ceone

iy sulphur divxide

For the vell reaction

oTe = fagy+ 21~ (ag) — 2Fe?~ {ag) + Ilag)

ES = 0,24 ¥ at 298 K. The standard (ibbs
e '

enerey {0 }5] of the cell reaclionis:

|Given that Faraday congtant 1= 96500 C mol o

i) —46.32kIJmol ¢
@ -23.168kI mol ?
M 48.32%kdmaol ™!
(4 23.16kdmol ™’

Enzymes Lhat utilize AT in phosphate transfer
require an alkaline earth metal (M) as the cofactor.
Il s -

(I} Be
2} Mg
(3 Ca
(4)  Sr

The must anitable resgent for the following
COnveraiom, is ¢

II.C H..":EIE,
Hy (- GE'C—ffH;l—- :
H- H
cig-2-hbutene
1) MNalliquid ¥H,
& H 5, 1’d/ C, quinaline
&3 Zn/HC)
@  Hg*/HY, 1O

Which ik the correct thermal stability order for
H KB {E=0, 5 Se¢ Teand Po) !

(1) Hg¥ < HyO < Hy8c < H,Te < HyPo
(2 HyO < H,5 < H,8e < HyTe < HyPo
(3 HyPo< HyTe < Hyfe < H,8 < H,0
(1} HySe = H,Te = HyPo < [1,0 < H,8



|}

i

LHR

6l

Gl.

7. fEdawmmemagEi’

(1) I'bF, F W addre ¢ |
(4 Sicl, SRS W s E
@ GeX,(X~F, CL Br,T), GoXy ¥ =
T B |
(4 SnF, T WFHA TEEH T
o7 1 e =T
YR - et | Gy S
()  EW WA (i)  HERTE aT
iy FETE Hw fiiy  FAHIER
) Er falg {iv) E‘i‘l‘“ﬁ'ﬂ'ﬁ[?ﬁlﬁ?
= & A e W e w7
) () (& (d
L@ iy e
@ m v @
(3w o G @
LSV R 1Y I Y N

S T Fgra = s P o o R fgmmites
Hta TS & o8 a8 £ 7

0,
@ N,
@ G
(1) ey

Tadld T = Ol & (070 WUq A7 T
el F5a] - B0 ;

(1} Ti<Ne<B<C=N=<0<T <N
(4] Li<B<be<C<O=N<F<ha
) Li=DB=Be<Ca=N<QO=F2N
() Li<Be<B<C<0<N=<F<N:g
SRRl A5

(1) AREA-5, 6

(@) AEEA 2-EER G

@ TG

(4) =S

16

av.

60,

61,

E— L

winfif incorrect slilémey; o

Which nf thi falla

i1y DbF,is ppvalent in nature

e Bl i easily h"_-’d.ml‘r'ﬂf-'d

{:ﬁ Gely (i=F. CL Ir. 1) ig move stable thy,

T Gedy
(4 BnF4i= iopic in naturs
i

Muleh the following

fay  Pure nileogen il hlarine

i Haber process )y Sulphuric acid
f¢y  Clontact process filiy  Ammonia

(@) Thewcon'aprocesz @) Sodinum azide g

Barium agide

Which nf the following is the correct option ?

(a) (b} {c) (d)
W W G @ v
@ o 6
(3 fmp Gy
¢y ) @) @

Which af the fallowing diatomic molecular apecie
has only = bonds according to Moelecular Orbita

Theory ¥

L 0Oy
B N,
TR
4 Bey

For the second period elements the correc
mereasing order of first onisation enthalpy is:

) Li<=Be<RB<(C=N<0O=T<Ne

2 li<B=Be=CeaN<F<Np
[y Li<PB<Be<(Q=N<()=F<Nea
4 Li<Be<BeC<OcN<H<Ne

The hicdegradahle polymmer is

1y noylon-g, 6

(2} nylon 2-nylon &
3 nylon-g

4 Buna-8
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e

s <+ o H R A DI, 981 Ca(OH), | 62 pH of a saturated solution of Ca(OH), is 9. TThe

6. -51:‘2'1‘:;;7 e { Eyp) & :::uhﬂ;tyir prlu[:lff: (Bopd of CalOH) s
b5 oX -
: EE: }: ?ﬂ 2 @  0.26%x10710
Uﬂ nilzﬁxlﬂ' D 3 0125x10-15
:ri 05x107 1 () 06%10-10
Fﬁﬁr afefF T = e & = B k8 S 63.  Ifthe rate constant for a first order reaction is k,
4 31‘[_1]1}"“ % 99% ‘fﬂf'—'ﬁ%ﬁﬁ A T () the time (t) rt.aq'lJTiI'E:El for the completion of $9% ot
waegmfamiﬂﬁfﬂ: the reaction is given by :
gy =089k () t=0.693/k
o t=6.909/k @ 1=6.909/k
) t=4606/k 3 t=4.606/k

- AT W 5 .
T fr KSinl @ 84. The non-essential amino acid among the following

) = is

3 T 1  wvaline

(3 T @ leucine

) wEEE (9} alanine
@ lysine

g, A U IR wiufE S e e g

mofed BT & 7 65.  Amomg the following, the reaction that proceeds
through an electrophilic substitution, is

o
1 ngrl vty @—m-ﬁ-ﬂz
+ 'l'l'lzl.{_‘.l2

Cl+N,
- Oy
AICI
(2) @* Cly—3s QL‘HHE]
“ ®+ c1, Y light, ol

Lo
o UV light
i + ], — -
Lol (3) @ 4 = o

i) LJ}—LHEEIH (Hp) TR CH, L+ H,y 0 a a

% e firam < s SR e P T 2

P 66. The mixture that forms maximum hoiling
U wEs A— AZeatropo ia ;
T (1) Water+ Nitric acid
) (2)  Ethanol+Water
3 THRERR+ T TEaeTEs
3 Acetone + Carhon disulphids
TR = NS o

i1} Heptane + Octane




&8,

a4,

T0.

11,

P1
G7. Tt sfife,

Nyl + 3H, (k) - 2N, F
a8 fagey & -

B e
3

- A[N] _, diNHg]

i
2 = &

_d[No] _ 1 d[NILL]
) dt 2 i

d[MH;)

g A, ]
dt

dn

=2

&Y

HR, TR SR, SR 3 20 Hie T ¥ S e
TR S e w5 v -

(L) 10

@ 20

@ an

4 40

e AT et S o weifE $5 8 7

]
S

{1) H- ~H
(2
L3
4
TF AT e = T, we e &
M Ay S=0RTINP W

@ A V20TERTaMmPm

@ A, H=0mrTaqpq
(4 A G=0FE0T q91 P R

A<= T HoO 71 HF 3 Fg gt s & ,

(1) w0 - &4 Hy P+
@ w0 B P
(4r  FEEW: OI1 J&TF-
(4)  #EE: H OV 99 H,F

18

it

64,

TiL

71

M E R
i fon Hr
For Lhi shemical reacho

M, igi JH4E) = i 5 TEH

i
(he eorract op s

72

| d[Hy] _ _ 1 ARHy]
M T3 T 2 dt
Al _ i @'HL]
i SRR
dvy] _ 1 dINHyl |
[ R
d[Hg| _ , 20Ha]
R i it

The number of moles of hrdrogen molecule:
required oo produce 20 moles of ammonia through

Huber'a process 1512

(1 10
V1]
(#r 30
) A0

The compound that 1z most difficult to protonate
i% s

-'D -
{1 H- T
e
@ HoT  TeH
sy
@ Ho “NOH,

Haor an ide al 2ol ution, the corra ot option is:

B 4, S=0at constant T and P
(2 Anix V#0 at constant T and P
[3) A M=0at constant T and P
W AL G=0at comatant T and P

Conjugate hoge for Brimeted acids H'..!'j and HF
HTE !

{1 OH-and H.F* respectivaly
02 HO0% and -, respectively

W O~ and F= respectively

EY H,O0% and H.F+, regpectively



- |
L L}

———=gh
ez .
== ﬁﬂﬁﬁmﬂfﬁa@m AT L [Apl]] -
1w Pt 271
3 | M AgNOy 60 mL+ L5 M KT 50 m1,
W ANO 50 mL + 2 MKI 50 mL
F M AENO, F S0 mL + 1.5 M KL 50 mlL
gy
L o1 ApNO, 50 mTs 0.1 MELH BOmi,
|_t:- :
i
ﬁﬁ{f,ﬁﬁ (Fwm ) HEgT TR ©
7. !
14 G
g AT
& Pl e
vy T e
y TR
nam = At
- TR AT, Oy T En-Hy0 = 309 siiafm

w0 T TEEER AT H AR A TS 6
A e, HOl F e B g smm = d
TR TR R S HE R

CH,
|
|
CH,
CH,C1
|
(2 H,0-CH,—CH 'EI]",i
CTI,,
|
I;E] .H.:!_ﬂ _EHE G i {:HE
I
Ll
CH,
|'-'1.:| 113{..- - {i.-H —'I:I-H
Cl  CH,

T i Farie o o T K [Te(CN)g] 8 el
T T W e Tea  Em

i

9 kS

=

o oA
1y

2

2

(s
ey ]
o=

[3) g '::;.

W et

: 19

T

Ta.

4.

Pl

Which mixture of the aolutions will lead to the
formation of negatively charged colleidal [AglL™
eol, ?

(17 B0mLol 1M AgO,+ 50 mL of 1.5 M KI
2} G0mLof 1 MAgNGy+50mLof2 M K1
(3) BOmLof2M AgNO,+50mLof LEMEI
(p  GOmLof0.) M AgNUG, + 50 mLof 0.1 MET

Among the following, the narrow spectrum
antibiotic 18 :

(I} pemcillin{z

(@  ampicillin

{9 amoxyeillin

4y chloramphenicol

An allene "A" on reaction with O, and Zn —H,0
gives propanane and ethanal in equimolar rnt:u::._
Addition of HOL to allkene “A” gives "B as the major
product, The structure of product “B7 s ;

CH,
|
(h  Gl-CH,—CHs— E!H
CH,
CH,(!
|
(& H,C-CH,-CH- CH,
CH,
|
@ HaC-CHy—C-CH,
|
Cl
CH,
|
w; e P
Cl CHy

What is the correct slectronic confizuration of

the central atom in K, [Fe(CN);] based on cryetal
field theory 7

Wty e
o
@ e :g
W e



P1
T FEAd e, A T o Fe Y -
(1) T Tl B - oy gy T GHL T 1900 T
0T T # )
(2 =1 P - O s v R 10 R
EEIGEA.
(B} WA D - ) e, Tl P—cl sEe
=T e #
4 POl = efaframia 2
7. T i aEr =S
(0 M NaOH %750 mL+0.1 M CH,COOTT
25 ml,
(2 0AMOH,CO0H #1100 mL + 0,1 M NaOT
=l LO0 ml.
(# 0.1 M HCLF 100 mL+ 0.1 M NIT,0H %
2000 m L
(4 0.0 M ITCH 100 mL+0.0 M NuOH =1
100 mL
78. T sfufmm o ger s
COOH
P
+ NH, Y
COOH
COOH
(1)
CONTIL,

0

()
COOH
NH,

NI,

NH;

20

TH.

E"d+E"E'i_"3

. Jated to PO,
= sialam et o .
the in porrect .

1dentily s i
fr:m tf::::i eq qutoriad P— {71 bonds ma ke unanpl
& e her
p with pach OERE

A :—I1i ]qul p— Clbonds male an 8 nple of 150

{L A H
with zach other | ..

e AxialP—Cl honds are longer rhan eruatnes]
% P — {1 bonda )
() PO, melecule 12 non-reacive

Which will make hasic buifer ?
&0 mL of 0.1 M NaOH+ 25 ml of 0.1 M

(L)
CH,COOH
¢ 100 mLonf 0.1 M CT1,C00H + 100 mT, of
DM NaOH
] 100 mL of 0.1 B HO1+ 200 ml of
0.1 M NTI,OH
i) 100 mL of 0.1 M TICL+ 100 mle of 0.1 1

“alhH

The major product of the following reaction is:

COOTT
+ N”a strang heating !
Co0H
COOH
CONH,
(0
4] @l[
i :Em'}H
?
M I-I2
NH,
I::.-I.:I @

NH,



[FmZ | i .
79, e 1 ﬁﬁﬁﬁwﬁﬁ?qﬂ[ﬁ:ﬁé;}:ﬁa
: 5 i :
ngaqaftmmﬂ T =
FEY
FiFm - 1 e - 11
ot} }:.I.:.FI_‘ F] w
o eoE, an SR
HE
@ ) i @
O
@ o) G G
D TR 1 L
(p i v @ ()
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(L [BiF ]2~
(& [GeClg2-
@ [Sn(OH),2-
M [Si02-

. T T o fefw Fred u gergi wfifed ¥, 208 K
T Egn= 0,59 ¥ &1 ¥ sl 3 e vy fomis

)

(LI

2303 RT
[ﬁﬂl T™ET= 288K TT, 5 0059 ?]

(1) 10102
10X 107
(3 LO=10'
(4] 1lox1opM

T

Bl,

82

ol §

Match the Xenon compounda in Column -Twith
its gtructure in Column - Il and assign the

correct code

Column - 1 Columm -11
@ XeFs i) pyramidal
by Xelg 1)  Agquare planar
i XeOF, {iily  distorted octahedral
iy Heldy {iv)  sgquare pyramidal
Code:
(m) (b)) (&) (d)
(@ i ) v
@ @ ) v @
@ ) G D (v}
M G vy @ (@

The manganate and permanganate ions are
tetrahedral, due to:

(1Y  The % bonding invalves overlap of p-orbitals

of oxygen with d-orbitals of manganese
() There 15 no - bonding

(31 The-bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

(4  The 7 bonding involves overlap of d-orbitals

of oxygen with d-orbitals of manganeae

Which of the following species is not stahle ?

(1} [SiFg)*-

2 [GeCl2-
@3 [BoiOH)P-
(@) [8iCl)2-

For a cell involving one clectron ES = 0.59 V at

?5'93 K, the equilibrium constant fur the cell reaction
ig ;

[Gi‘mn that 2308 BT ]

T DORS VatT= 208K

(Il Lox1p
(@) LDx108
(E 10x 1010
4 1.0x1050
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ZHig) — Haig
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(2)
(d)
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(Z) =T S
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{1y Fei |ty
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Which of rhe fullnwing ia an amphoferin 40,
hydremxide

1 (O
2 Cal Oy
gy MgiOLy

(4 Bed )T
z malar weop Lo .
ideal £a8 undsr

t aption abouk

4 pay at 330 | and 16 bar b
?3‘” pereent smaller than Lt for u:u
{he warme conditins. Th.:: _c:.r.n_l;'-.mm_ oy
the paa andals compressibiiity 1 . L
w1 arl glbrgotive [NTOES are domiren
4 ¥

i foreis m
7 = 1 phd repulsive TOrEs are do
e ol i e LT,

N
ey
G

&

A enmpound ia lormed by ¢
The wunions form hexagond s
lartice and the calinme oooupy fd -
voidy. The formula cfthe pomponnd s

inanL

7« | aned uberactive fnrees ar

v = 1 pnd repulaive [nyoes UPE draminanl

gtion O and anion A
| cluze packed (hop)
2, ul ootunedral

A Uady
21 oy
(3l Caiy
M) Cehq

In which eaze change in eniropy is negative ?

(1)  Ewvaporation of wotcr

{#)  Expanmon of a gasz at constant temperature
{4l bBubbimation of solid to gas

@ 2Fig) — Hale)

Which of the following series of transitions in the
apeclrum ol hydrugen atom falla in visible
regicn ¥

1y Lymanseries
2} Balmer series
[ Puschon series
(1 Bracketiserios

The me L]'_l cd used to remove wemporary hardness
of water iy -

(1} Calgon's method

2 Clark's mothod

(3) Lon-exchange methad

4 Synihetic PEHING method
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(1) CuFeSy
iz CulOH)y
{3 FEED.Q
i) Cumg.ﬂ‘u{ﬂH]E

a1

e e 2 e e A 37 T T
1 T B

() (CHg)oNH > CHyNHy = (CHypN
@ (OHgeN = CHyNHg = (CHy),NH
@) CHN = (CHg)yNH = CHyNH,
(@) CHyNHp > (CHylpNH > (CHy N

T 1992 H T &t 7R e g e w6
el TR o1 2

U CO, 3 3w s w00 % 58 7 &
Term |

() SafarEd e i i o vd e
gt I & e

(3] ST S A g s e g
SifEm & e & f

() ORI (CFCs) 5 STER 1 aeee T

= % 0 =5 6 m e T R

TET & ST AT S o g s e

FIE THm # ufRe 2R w9 ¥ fu e
W%ﬁﬁﬁmm%

(1) e A i

(@) "

(8) W

(4 T A

STt Y e # o 51 ofir o 9 g g

= T

() A

(2 e FferRe w5 s g

(3) Wﬁmﬁﬁﬁﬂﬂwﬁfzﬂﬁq—ﬁg@]
() e # et

Ao,

J1.

B

a3.

P1
Which one iz malachite from the following 7

(1) CuFedy

@ CulOH,

(3 Fegly

4y  Cul0yCulOH),

The correct order of the basic strength of methyl
guhsatituted amines in agqueousz solution is

(1)  (CHg),NH = CHyNH, = (CHy),N
¢  (CHg)yN=CH,NH, > (CH;),NH
#  {CHuWN = {(CHgloNH = CH MNH,
(4)  CHyNHg = (CHy,NH > (CHg),N

The Earth Summit held in Rio de Janeir in 1992
was called

(L) to reduce COy emizsions and global
warming.

{2y for comservation of biodiversity and
suetninable utilization of its henefits.

(31 toassess threat posed to native species by
mvasive weed specics.

4 for immediate steps wo discontinue use of

CFCa that were damaging the nwone laver.

Colostrum, the yellowish fluid, secreted biv mather
during the initial daye of lactation is very essential
o Impart immunity to the newborn infants because
it eontaing ;

) Natural killer cells
(2] Monocytes

(3)  Macrophages

4 Immuonoglobunlin A

Graszs leaves curl inwards during very dry

weather. Select the most appropriate reazon from
the follawing

(1} Closure of stomata

2y Flaecidicy of balliform cells

(@  Shrinkage of sir spaces in spongy mesophyll
@ Tyloges in vessel:
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97,
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=1 1 7 e fawen =1 =rgA il .
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(1) @m0 i) vl

2y W vy D (i

(0 G @ o

4 di G 0 v

Qe e e e = e S e e el 1 1
fafafan & 9§ 5 F 91 799 Heemgy =R v
(1) s wh T e

(2) HE AR

(3 i EE
¢y TecT Siadr 1 SR

a8,

[tingi+Ergal]

e
4 longee urms of 2 submet .

The shorter an ger et .
chromosome 4re pelprred B0 :
(1) a-arm and l-arm respe ctively :
¢ pesem anil g-ATI reapectivaly I:

- pactively

5 gearm anil p-orm raspect Iy [

3 e A
fi-grm aod n-ATm rE sprrotivels |

14

Respiratory Quotiznt (R value of pripalmitin iz 0.
o 0g

@ 0T

@ 007

(009

1 bluod

Which of Lhe following is 2 COTILLIL T L
cholesteral lowering agent Y

(1 Cvelosporin A

@ Statin

{1 Streptokinase -
(4] [apases

Mateh the following structures with their
regpective locatinm i organs

iy Cryplzof Lieberkithn () Pancreas

b Ghisson's Capsule N Dhasdemam
[} [zlets nf Langerhans i Smaaldl

inbesting
idy  Brunner's Glands {iv)  Laver

Select the correct option from the following ;
@ b (© (@ i
(L G () i)
N N O ¢ B 17
T VT R I ()
WD @ @ (i)

Which of the following is the most, important caust

fDr. ﬂ.[]-lr.l'.l.ﬂ]q"h El.ﬁd Fialli-l-'\. heiﬂg dl:']l."'-ren ti
exlinction?

(1) Habitat loss and fragmentation
(2] Drought and Noads

T Emnnmiee:u:mnitatirm '

@) Alien SPECICS INvaginn
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(1)

(2)
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101
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103.

i

Which part of the brain s responsible for
thermoregulation

i1y Cerelrum

(4] Hypathalamus

{9 {prpus collosum
4y Medulla ublongata

Consider following features

() [rgan SysLem leve] nf organisalion
by Talateral symmetty
) Truecoelomates with zegmentation af body

9]pet the correet option of animal groups which
posecss all the above characteristics.

i1 Annehda, Arthropoda and Cheordata

{#) s nnelida, Arthropoda and Mollugea
(% Arthropada, Mallusca and Chordata
() Annelida, Molluscs and Chordata

Select the eorrect seguence of organs in the
alimentary canual of eockroach starting from
mouth

{l) Pharynx — Oesophagus — Crop —
(Fizzard — Ileum — Colon — Rectum

(Z2y  Pharynx — Qesophagus — (nizzard —
Crop — Ileum — Colon — Rectum

@ Pharynx — Oesophagus — Cizzard —
Tleum = Crap = Colon < Kectum

(1) Pharynx — Ocszophagus — lleum —

Crop — Gizeard — Colon — Rectum

Which of the following pairs of gases is mainly
reaponsible for green house effect?

(1) Owone and Ammonin

(2} Omygenand Nitrogen

() Nitrogen and Sulphur dioxide
4y Carbon dioxide and Methane

Which of the following muscular dizorderz ie
inherited ¢

(1) Tetany

(21 Muscular dystrophy
(3 Myaethenia gravis
4}  Botuliam
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() EEuEd Him i
2 Tl AT
=t =Ee
4 g

14G7.
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TE IS A A W9 2 W 5 kg A B
39 3.3 ke O T A 979 FawE AT ©
ST 2 8 2.5 kg A S 4,5 6 6 ke AR 99%
T T | T TR T e d 7

(1 ToeHes =2
(% THTHERE T
(3 TEm

(4} FEE T

pjred to move
. 118 ) o 1
104, The ciliated ppiths i 4 wpecifl dﬁe:ﬁf? : l
particles oF T"luml'jﬂ are mai Iy presei - |
humana, these ce b A |
ale |
{1y Bileduct and Bront ;mcr&mm P
@ Fallopinn tubte and : o
%  Fustachianti o g
(4}  Bronchicles grnd Fallopiad
- -11:
105, Mutch the Column - I with Colum®
Column -1 UDIH[‘I:II"- -1I
i Depolarisation of
@y P-wave i) il
: T Repolarisation of
(bt GHS complex LR Tl e
' - Wave iy Coronary
&1 T-wave O
i) Heduetioninthe {1v) Dc-l_:-ulariuaﬁnn of
gize of T = wawe atria
i Repnlaris.at.ianuf
piria
Belect the correct option.
{a) (b} (o) (d)
@ 0w @ @
@ ) @ o )
(4 S TH R b W {iv}
106, "_r‘lr‘]':il-:h one of the following is not a method of
e s conReryation of hiﬂdil?tal'sit.}- 5
(L} Biosphere Reasrve
() Wildlife Sunctuary
()  PBotanical Garden
{4} Sﬂﬂr&d{}ruve
107. - : ,
In a speciea, the weight of Db o o

2to 3 kg, 97% of the newhborn w:

: n with
welght between 3 to 3.9 kg surviv:e w;? fide rag:a
of the infunts born with weighte from E?Hg Eﬂh
ar 4.5 to 5 kg die. Which type D SR

of '
is taking place ¥ selection process

{1}  Directional Selection
(2} Stabilizing Selection
(3 Disruptive Selection
(4}  Cyclical Salection
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108, The corcect s2

(L]
(2t
(3
(4

Il

guencs of phages of cell ovelein:
{1, =G, =3 — Ml
§ a3 -+ M

G =8 Gy M

109, How does stervid hurmone influence the cellular

autivities ?

(1)
(2}
(3)

i)

110,

(2]

(3
)

111.

(1%
(L)
{3}
(41

112,
(L3
(2
{
(4]

ST B 8

(1 s EL T
(@ A9 9=
( STETE aEA

(4) eI

113

(A}
{2)
()
(4)

(hanging the permeability nf the cell
membraneg.

Ninding to DNA and forming a
gpne-hormaone complex.

avtiwating cyclic AMP located on Lhe cell
membrans.

I uing aguaporin channels as second
MeSEENEET.

Which of the following statcments in not correct ?
(.

Lysosomes have numerous hydrolyie
CTTHTIES,

The hydrolytic enzymes of lysosomas are
active undey acidwepH.

Livansomes are memhbrane bound struchures.

Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

Which one of the following etatements regarding
post-fertilization development in flowering planta
13 inenrrect 7

Oriary develops into fruit

Zyzote develops into embryo

Central cell develops into endosperm
Ovudes develop into embryo 2ac

Concanavalin & i

an alkalaid
an epgential o]
A lectin

| p‘lgm:—mt.

Which ane of the following cquipments is
egzenfially required for growing microbes on a
large scale, for industrial produoction of enzymes ?

BOD incubatare

Sludge digester
Industrial oven
Binwenctor
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(a) By Eow i 900cc

by B i {ii) 1330co

e R o (ili)  GRb- B00 o
oy = ey fiv) 140N oo
e faset =1 =997 Fifan |

{a) (b)) (e} (d)
(L o )
@ G o M v
D v @) i
@ v @ 6 G

114

116.

117.

"

a E[EIE'JmEﬂtE : 11

fllowin o r .
Er:]:l_-l:ld.ﬁrihe 1 .-;WT-'JFLHJ ynm that s Flghﬂ.} h"-'"-l.rH |
A S m:,-prlfﬂsin ja ealled prosthitie Brouy, |

.ul I i 7 i | i}

memplg-t.e ratalylic a-:;tlh'eLrl:]:ﬁ'r EJL:IP:IL; Wilth iy
@) AcomPr theticgroup is el S
Troparac] pUoE .
rect nptant-

geleit Lhe oor m |
(L Gotl () and (13) are true

¥ 18 Lrue puti (B) 1= false,

R |
¢ Doth (A) anrd (B) arre false. )
{:-1} {A) is falat but (B) 15 trac,

pypines [nind buth in DZT-T;‘!. and BINA are:

{1y Ademne and thy mine

i Ademne g guanin:

@  Guanineand cytosine |
4y Cytoaine and thymine |

aelect the correct sequenee for transport ufsper,

cellg in male reproductive sy STemm.

(1}  Testia — Epididymis — Vasa efferensy
s Hete teatis—Inpuinal canal —» Urethe

) Seminiferous tubules — Rete testy
— Vasa clferentia — Epididym:

=+ Voe deferens — Ejaculatory due

—» Urethra — Urethral meatus

([  Heminifercus tubuler — Vasa effercate
— Epididymiz - Tnguinal carad
— Urathra

41 Testis — FEpididyvmis — Vasa efferents
— Vasg deferens — Ejaculatory dus
—+  TInguinal canal — Ureths
— Urethral meatus

Match the hominids with their correct briit
alze -

Wy Homohabiliz i} 900

b Home neanderthglensis iy 1360cc
feh  Homo ereciug (i) 650 -800¢
dy  Homao supiens fiwd  1400cc

Select the correct oplLiotL.
@ ) @ @
Ay G (v} gid)
@G oG (iv)
L N €11 I G
@ v )
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118,

114,

1240,

121,

122,

Fl

Varistions caused by mutation, as proposed by
Hugn e Vriea, ore -

random and directionul

il

2y random and directicnless
(5 smalland diveclional

iy smalluod divectivodess

Which af the fallowing pair of organelles does not
conrain DA ?

(L hitnehondria and Lysnanmes

¢ Chloroplast and Vacuules

() Lyeneomes and Vacuoles

Y Suclear covelope und Mitchondria

Nue to increasing air-borne allergons and
pallutants, many people in urban areas arcc
suffering from respiratory disorder causing
wheczing dus to:

i1 henign growth on mucous lining of naral
cavity,

i@ inflammation of bronchi and bronehioles.

(0 proliferation of fibrous tissues and damage
ofthe alveclar walls.

4 reduction in the secretion of surfactants by

Presmaey tes,

Sulect the incorrect statement.

(11 Male frait v 1z he lerogamete,

21 Inmale prasshoppers, 50% of eperma have
no sex-chiromoscme,

{d In domesticated [owls sox of progeny
depends o the type of aperm rather than
SpE.

{4}  MHumsan males have one of Lhair

sex-chromosome much shorter than the
ather,

DNA precipitation oot of a mixoure of bismaoleeules
ean be achioved by treatment with -

i1} Isopropanal

2} Chilled ethanal

{3} Muthanol at room temperature
{4} Chilled chloroform



1

128 9 et st & gt feren T A

134,

i1
(2
()
1)

T AT, T A =, uRE
HRTEIZ T, Emias, i
VA, T, eSS

%WEFI' T F

I ¥ wrp g

@) S et e 35 7 e 3
ﬁ%%mmﬁ%r
i I N —
& R AT U e
ST 9 S 5w v aqaaeta i

()

(4

125, ﬁmﬁﬁﬂﬂmmmﬁaaﬁaﬁﬁw

126.

127.

Flfary, ;

T S oy
Lfie

() AT
@ Ui o

T
=l

{i)
{k)

()
i)

Tafea s
HoE
THifeE s

{ii)
{1v)
(¥)
HEr T w1 T =i
(a) (b) () (d)
@ o @ )
iy (iv) i
i) ) @)
Ay @ )

(1)
i2)
{3
()

(1)

i¥)

s I w51 w5 e wE e 3
(1) =ghEm

(2} AT

() S

(4 T-TemmmH

0 T J A g T e & o F oftefia
F A § | 5E WA R w7

() =TT

@y AR

T I G O
AR

{d)

30
] 1238

124.

125,

126.

127,

LH"i'Eigﬂ

ap of bigoomtrol ugents,

EEJ-'.-L‘tthg c'ﬂrIBﬂT-bFfj L EER Tobacaoe m'}E-'di_[
(13 DBrcillus f frerLLERE i
-firus_,-ipluds s
o vichoderma, BOCLTE
@ Descitlies sl gl sis _—
{Jerillatori Tphz oA, Trichndering
{3-] J a8 i
rillien,
Nogtoo, ~LsesH il
= ,""-"z.xc-i!enpn.l,'_-_.-}Ledrnutr.!:n
Seleed the incorrect statement. -
i1) [mbreeding inereases h o eEVEOELLY .
(2 [nhroeding 18 eesential toevolve pureling
in any ammal,
1 20 fes ful receesive pap
hreeding selects harm = &
@ lLll:aL peduce tertility and productivity.
(1) Tobrecdmsg helps in accuwmulation of Supery,

penes and alimination of undesirable pene,

Malch the following nrganisme with the produr;

they produce ;
@) Lactobacillis @ Cheese
B Snechoramyces m)  Curd
careutalaE
ic)  Aspergillus niger {iiy  Citrie Aeid
) Aretobeler aeeti av)  Bread
(v}  Acetiched
Seleet the eorrect option,
ta) b)) (e} (d)
R TUR 4 I ' T 4
L T 1) I )
LU
W o @

;‘;jl;s:f?m& direction of movement of sugars in

1) MNon-m ultidirectingal
2y Upward

(@ Downward

() Bi-divectiona|

Insome plants,
embryo without
18 known g -

the f_{"_’-'ﬂa]E gamete develops Y
fﬁrt]hzﬁtinrl. Thin phl?l‘lclnletlﬂﬂ

{1 *""“mgam:,

() Parthenocarpy
B Syngamy

“ Parthenogeneyis,
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Wﬁﬁfﬁrﬂﬁﬂq 100 ] T8 fAert v = #ia
H 50 mL ¥ 79 3997 759 = =9 201 7

(L 50¥Hg ofg fiqe

2 7a T 9fh fame

(3) 100 %HsA Wi fee

(4 125 F9=A 97 A2

fergrsifirera, s 1 o wg &, S Frerfatan §

T FH 9 FE T e w7

(1} TE2EM e

(2) TR T FEE

(3 TR

(4)  foEdtem

e T34 P 3 v ot 9 ey o e e

g7

(1) Vet T = e

(2 FER F R w8 are
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(I wiesen g sReEfer =
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123,

1a4.

131

132,

P1

tent oueelluz in the seed ia lenown as

Paraia

(7  Cholazs
i) Perisperm
(] Hiluim

4] Tegmen

What map unit {Centimorgan) iz adopled in the
construction of genetic maps ?

A unit of distanve betwern two cxpressed

in
penes, representing 10% cross over,

(2} A unib of distanes between two expressed
genes, representing 1000 cross over.

(@ A unit of distance hetween genes on
chromosomes, representing 1% cross over,

(4] A unit of distance hetween genes on

chromosomes, representing % oross over.

What would be Lhe heart rate of a person if the
curdiae putput is 6 L, blood volume in the ventrieles
at the end nf diastole s 100 mL and at the end of
voentricular aystole is BOmL 7

(ly  Sfbeatz per minute
(2 75 beatz per minte
(3 100 boats per nminute
4y 125 beats per minute

Thiobaeillus is & group of bacteria helpful in
CAFFYINg ot

(13 Nitrogen fixation

(2} Chemouutotrephic fixation
(3 Nitrifieation

() Denitrification

Which nf the following factors is responsible for
the formation of coneentrated urine ?

(1) Low levels of antidiuretic hormone,

(2)  Maintaining hyvpervsmolarity towards inner
medullary interstitium in the kidneys.

(%  Secretion of erythropeietin by
Juxtaglomerular complex,

()  Hydrostatic pressure during glomerular

filtration.
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Which of the
rnitorhondrid 12
b aTse
iy e meI I
¢ ol corhohydrd
TS art A Ty v
o5 ol lpetran BATUER hm'—"—:u

Fpzry Lk
24 ipoutelr Tl Lranes.

[pner mewbrane is convoluted Wiy
gy AEREC
imfol dings.

(&Y aitocha ndria
cireular DNA M

| matTix contains s
A ]
plocule and ribosnmes,

Xvlem rrunelocales

i) Waler only
(% Waler i mineral salts only
(1 Water, miner
nirrogen only

Water, mineral aults, OTOL OPEANIC Nitroe,,

and horpmones

al salls and some OEEAR,
i4]

Cells in Oy phaae

(1) exil the cell eycle

i®  enter the cell evele

(8} suspend the cell eyele

(1 terminate the cell cycle

Which of the statements given below 1z not tr=
about formation of Annual Rings in trees 7

(11 Annualringis a combination of zpring wid
and autumn wood produced in a vear,

(21 Differential activity of camhium eauses ligh
and dark bands of tissue - early and l&
waod respectively,

(3} Aetivity of cambium depends upon variatot
inclimato,

(4 Annualrings are not prominent in ereest

temperate region.

Which af the following ecological pyramide
geterally inverted ¢

(13 Pyramid of numbers in grassland
2 Pyramid of ENErEY
3 Pyramid of higma s& in a forest

() Pyramid of hiomsassinasea
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138, ﬁmﬁéﬁaﬁhﬁﬁmqﬁﬁﬁﬁm@wﬂ
3 T W R R A
(1) Al S
@) e T
ity TET iEeRTE

140, 7 H i T e wi i e o =

#7

i1
{2)
(i}
)

T ST, Titern, smurss 4
1y fafeml, w9 s, Tt

CuT, e, rmsmt mHfrnm

T, S TR, T fafEt

141 U EHE F SR ST U v e e
FHI: 500 mL TE 1000 mL § | A sl e
1200 mL B, 59 5T {47569 90 3= §Ri 2
(1)
(2
(3
&)

1500 mL,
1700 mL
2200 mL
2T00mL

142, ¥eTd iR 9 wafe g0 T s it

BT 2

() T TEF, AVE F Wy wier da# o g
(T8 wer =ifrm & wf & wm e £

(2] A TR % WY Bl B # )

(3) T 27 T W Hie & E A g ()
A FIHIH Fmer & WY wiie 2 ey
¥l
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138,

139,

146

141,

142,

Placentation, in which ovules develop on the inner
wral] of the avary cF in peripharal pawt, is;

(1} Dusal

7 Axile

gy Parietol

(4  Frescentral

Which of the following protocola did mim for
reduying emiasion of shloroflucrocarbona into the

ntmosphere 7

11 Mantreal Protocol
{27 HKwoto Protocol

¢ Onthenburg Protoesl
41 Leneva Protocnl

Which of the following contraceptive methods do
imvalve a role of hurmone 7

i1} Lactaticnal amencerhea, Pills, Emergency
contraceptiven

2 Durrier method, Loctational amenorrhes,
Pl

] CuT, Pillz, Emerpeney contraceptives

) Pills, Emergency contraceptives, Barrier
methods

Thdal Volume and Expiratory Reserve Volume of
an athlete 1z 500 mL and 1000 mL ospectively,
What will be his Expivatory Capacity if the
Residual Volume is 1200 ml, 7

(1}  ladhmL
@2 1700mL
= 2200 mL
il 2700 ml,

What ia the fate of the male gametes discharged

inthe synespid ?

(13 One fuses with the egg, other(s) degenerate(z)
1 Lhe sgnergid.

20 All fuse with the egg.

() COne fuses with the egg, other(s) fuse(s) with
srnergid nuclewus,

i) Omne fuses with the egg and other fuses with
central cell nucler.
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147,
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sptioil of D'hmu]:"-i‘l.'i_-.d | 1

7 8 o PR R W
What 17 ﬂi::-_':-sr ?:;.gtjun of flowering in plank,
JllZ!DEJ:IEﬂi'?F' o hu;.iﬂ |
(1) funtar
) plyimld |
h Qhool BFEF
Laawes . |
{4 written acientific name o |
a-lert the ! nrri"t:t-l}':_ﬁ fixat desur ihed ]3'!.' |
1,,;3 nEo which ¥
1=
Cprolua Jann@®s=s o Linn.
qy  Mangiferd il 1:.;1.1-. i |
l:H} ﬁmﬂ-‘gl.':ﬂf":l‘ E_;rl.d.tl}ﬂ Limt
‘*3} Manrgtfent incficT |
l" -
oy Memgifere Indica
opibe £he Ehu&':terj:ﬁ'
: . centementa descr] i
Ilfl:l :.;ﬁ:;?;-it Hoatrictivh Endnnucleasc. Tdmg,
0 T :
the incurrach gtatement. | | |
7y Thuenzyme ruta LA wmaleenle atidentif,g |
‘ position within the LINA, .
iz Theenzyme hinda DMA At specificaites ayg
‘ b only one of the two atrands,
(3  The enryme -:ut.hl th.c sugar-phosphat:
" puckbune at specific sites on each strand,
4y The snsyme Iecng nizes = specifi
palindromic nuclentide sequence i e TING
From evolutionary point of wiew, retention of the
female gametophyte with developing young embemg
on the parent sporophyte for some time, 1= fitm
observed in
- Iverworis
i1y Li
(2} Mosses
i Preridophytos
M) Gymnosperms
In Antirrhinum (Snapdragon), a red fAower was

-L‘J::'-:JFIEEI'] with a white flower and in 1-'1 generatin,
pink flowers were ohiaine d. When pink flower
were selfed, the ) gencration showed white, red
and pink flowers. Choose the incorrect staterent
from the 'E'Q]]{]wing r

(1) Thisexperiment does not fallaw the Princip?
&fDDminunce.
®  Pink calour in F, is due to incomplet
dominanee,
&  RatioofF, i & - L owhi
: CE e . = uphitel
235 7 (Red) 5 (Pink): 7
W Lawof Segregation doss nat apply 1 thiF

EXpErIMent,
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- ; 148, Conversion of glusnse Lo ghidoee-6-phosphate, the
145 TEEFE ;ﬂ-ﬁﬁ—q— 6 ﬁ?ﬁﬁqﬁﬂﬂﬁ.?ﬂﬂﬂﬂ?ﬂﬂﬁ? firet irreversihle reaclion of glycolysis, iz catalyezed
1 Tel| g sl 8, e F ER A b
Epis A
N (1 Aldolase
1
(1 HrFarl= {#  Hexckinases
(7 S
7 T (4 Fralase
l'I'“I "‘ 1
[ e (4  Phosphofructokinase
(4) TR

. iy . 149, Drugculled Tlercin® 1z svnthosized by
148, 'R THE S IO a2

(1) i ¥ e
{2y HE o R
& R e
(4} HITEA & AL |

(ly  methylation of morphine
(n  acetylation of morphine
(31 plveosylation of morphine

i) pitration of morphine

150, Seleet the hormome-releazing Intra-Uterine

160, E19 A s gfes = w0 Devices.
i1l A, LNG-20 (1) Vaults, T.NG-20
() WEET 275, U 2 Multiload 375, Progestascrl
(3 W, LNG-20 -~ (#  Progestasert, LNG-20
4) TEU =, gediE 575 {4y Lippes Loup, Multiload 375

151. TF [ == I : ' 7

5 ﬁ«‘m R mafr A adl AR THAT | 151 A gene Tocue has two alleles A, a, Tf the frequency
il A =l AR 0.4 & 7 T g of dominane allele A is 0.4, then what will be the
WU, Tl UE et SwdE s frequuncy of humnzygous dominant, heterozygous
AR T 2 7 and homuzygous recessive individuals in the

population ?

i1} 036 (AAY 0.48 (Au): 0,16 (an)

(1} 036 (A% G.48 (Aa) 010
(@ 0.16(AA)0.24 (Aa) 0.96 {aa) (AA): 6.48 (A2); 0.16 (aa)

() 0.16 {AAY 0,48 (Aa); 0.56 (aa) (2) 016 (AN 0.24 {Aa): 0.36 (aa)
(0,16 (AA); 0.36 (Aa); 0,18 (aa) (@ D16 (AN 0,48 (Aa): 0.36 (aa)
; (4) 016 (AA), 0,36 (As): 0,48
162, T e o fam § ety § #  w ra (AN, 036 (An); 0,48 (aa)
w7
U TR & 152, Which of the following is true for Golden rice ?
FEHIEA ® 9R A, i o
. L B (1 Itis Vitamin A enriched, with a gone from
2 = I gt F o e daffndil
HE {2} It is pest vesiatant, with a gene from
) TR A s e f e e poiy b iionans
= 3 e IR R 7 (B} It is draught talerant, developed using
5 Agrabactertwm vector.
() mﬁﬂuﬁ?—mvfmﬂjﬂqﬁﬁmﬁ;m _
THE B U dy Tt hae vellow grains, hecause of a gene

introduced from a primitive variety of rice.
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T e T e A
) TomE § TEmE e e e e E
) T F Atetoe g g U aet
157. 7= sftal = 2=t fafiremed & e fier w9
(@l  TEE VI e e v
by FEE () H i
©) Sy (i) R
{d} ST {ivh Tt :lﬁlﬁl;ﬂf
freifer fadedt 5 O Tt wa =1 =7 wifem
(a} (b} () (d)
(Iy il @) @ ()
(@ @ v G @
(@ o o g )
4y i) o v @

£

i
i)
(3
)

(1)
i2)
i3
i)

{1
()
i)

(4

reap
{a)
(k)
()
(d)

| 5. W hich nf Lhe fo
allow hacteria to
pepotm anant DA e

m%ﬂﬂ

e_.l-mi_l'lﬂtlg." H-nli EI:'T_H'I:.le 5

Y paot BY 5. -
163 Pinus Eil.-dg';?pgar_ﬁi-hlflﬂﬂ. This 12 becaug, .
writhout TIDE:
1 jta eIy iz i malare-
l: ] it hiLs EI]JIJ. E’ﬂ‘lp :I-E"W.-latmn 'l.'lnrlth mmﬂ]‘uﬁi
() I |
s at.
g ithasvery hard sued 2o .
4] it mands eontain inhibitors that reve,
|.'1.__I | =

grrmination. |
lowing fearuen CLFeNEbEcude g

produce human insuliy by
chinology 7

enctccode I8 nnt ambiguons

ja redundant

(3enetic code
ey univeraal

Cppetic code 18 N8H

Genetin codu 18 gpecific

165, Which of the [ollowing sexually transmire
lispasce is not completaly curable

Clomurrhoes
Clenital warls
CGrenilnl herpes
Chlumydiagia

156, Which of the following etatements iz incorrect? |

Viroids luck s protein coar. |
Viruses are obligate parasites.

Tnfeclive constituent invirusesisthe protein |
Lot

Priona consist of shnorms Hy folded proties

Heloet the correct option from the following:

@) (b)) (o
(L i) i g
@G gy g
O

G (i)

(i)
{1v}

ective characteristics ;
Filn (i}  Flame cells
Hombys i Comb plates
Hlevrobrachin {ii] Radula
Taenia {iv)  Malpighian
tubules

()
v}
i}
{i)
i1
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AR S 4 S At A
G E AT

.0 Fgead

T ELEL, SR

{1}
2
(]
i)

Freforfan 9 #7 T T T e 7

(1; o o TRA T A IR R

(7 AR AR T UeRAEE ST TR EL A
i F
Frafezratsald T H TR ET ¥ 211 TR
sfmaridry = e {9 #
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4]

a7

Tt 1

160, FHRIEN - 13 e - 11 3 ity Siam .

161.

62,

e - 11
WY STE1 o A T
HesTEt T
oA = TRl ) A
TTer T S T
T TE =]
(ly A i T e e o
{ T R ) ST TE
Freifes Tl ¥ & wel 20 g -
fw) (b}  der id)
(L @ ) i
o) gy @ v
@ @ @ ()
@G g v

P # =1 e e - g7
(1 GLUTI

2y  GLUTI

(3 GLIFTIII

) GLUTIV

Pt 1 S < e s o fris =) e o
& Tort, FeE 8 7

e - 1
(@) FAEET )
TETET
e

{1}
Y

1)
(i)

i)

(1} =-whren JgEEm

(2) T Wi A

3 TR gimen sefEa

() P e e Amen

LG8,

158,

160,

161.

162,

E1
Expressed Sequence Tags (KETa) refers o
{1}  Gunes axpresded as RNA
(% Palypeptide CAPIERRION
(@ DNApulymuorp hism
i Mowe] 1NA sequenoes

Which of the following statemdn s ia ineocrect ¥
yorels and traffles are edible delicacies,

gz inicepeis A souree of many alkalobds and
LSD,
@ Comidia are produced cxogenouzly and
AACOEPNTLS endogenously.
(s Yessls have filamentous bodies with long
thread-like hyphae.
aateh Columm - I with Col unm - 1T
Coluwmn -1 Column - 11
fg) Saprophyte () Symbicticassaciation of
fungi with plant roots
i arasite i) Decomposition of dead
organic materialz
ir} Lichans iiil) Living on living plants
or animals
i Mwenmrhiza (v Symbiotic association of
algae and fungi
Choose the correct answer from the options given
baelow :
@ B (@ @
W G G @
@ ml G o6 G
@ WO G
Wil i Gy 6
Tﬁ‘luch of the following glucose transporters is
Insulin-dependent ¢
{1l  GLUTI
(@) GLUTIT
3 GLUTII
) GLUTIV
Which of the following immune responsce is

reeponsible for rejection of lkndney graft ¢

) Auto-immune response
i#)  Humoral immune responze
(3 Inflammatory immune response

4} Cell-mediated immune response
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(1} (a)H (b SFEA E
@ IR
(3 (ch UH (d) 3= &
(4)  {a)TH (dyIEAE
184, FEHFm MR EGE?
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Ft =1 T T e
(% Tl e T T E S weet
GiGIA
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IR HATF HagAsite W F)
165, 1 % A= g8 % w w0 T s v e

166,

TPl & =T T w e w1 s s g

T Y

(1) FLTH "
@ IE A HEH
)  FERE e
(4w EE

R S B e < 7 3 e e v
Hifam |

G (i) =T

@ =M (i)  =FEEC
oy Gv) AT
= ey = 991 =1

(o) (b (o (@

(0 6@ @) @ G

(@ o) @ o ()

(3 i) @ (i) ()
(4p G v 6 ()

168,

1.

164.

166,

e ppanlt in ; .
mar nous wadls huild-up io the body
f Mitroge E ] .
i) imination of BXEEES pobassiam iy,
Ton-i _ .
i an of caleium 1ong frag,

Reducud abeatl t

L guﬁtru-inh:.ﬂctinﬂl tract
i RedumrlRHL‘-pmdumnﬂn. |
Which ol the fullowing options 18 the Magy

appropriaté ?
¢a) and (h) are correct

{1)

e (bl and (o) are LOTrect
@ (e)and (d) are correct
() (w)and {d) are correct

Which of the fullowing statements 15 correct !
Cornes is an pxternal, transparent apg

(1] LeTn :
P ratective proteinacloud COVErINg of 1ha
ayu-ball

(% (urnea consists of dense connective tissye
of elastin and can repair itself.

() Cornea is convex, transparent laver which
iz highly vascularised.

(M) Cornea cunsists of densze matrix of collagae

andis the most senzitive portion of the eye.

The frequency of recombination between gene pairs
on the same chromosome as a measure of the
distance belween gones was ¢ xplained by :

I} TH. Morgan
(2} Gregord. Mendel
(%) Alfred Sturtevant
(4) Suttan E.ﬂveri

their PosReCtIve products .

(@) igene i B-galactosidase
h)  mpene i)  Termesse
&} agene (i) Repressor
@ yaens (v} Transacetylsse
Select the correct option,
(@) (b e} ()
Ww G g (iv)
(2} i) (5 G (iv)
@ oh gy (if)
D G og g



348

[Hnci+Engih]

16T, ST S T < e e e e T T
m#mﬁﬂaﬁ%ﬁmwﬁaﬁmaﬁﬁﬂ
mﬁwﬁﬁﬁ%fﬁqﬂﬁmaﬁ?ﬁﬂ
o ¢
() A i i
i e ol Tt A

(€ TR A T A
168, wifammEedl i T s e e mwﬁ:mﬂ
F1F FE & fwEH H e
() T R T
f T IR,
RN B o a EiE T
() TE I

158, Fefime d 4 e e ST IR F 57,
e I TERE T Sy g s &7

1y TR
@

i T

M) DA

170, STTgORTeIE] o w1 e AT g

() UeEHEE i S = wiEs
(2) e AT A A

(@) O GEET ST

(4) SR AR ST " ST 2w

171, ST e & T g frve w3 s e £ 2

(L) TR W A A e e
2 T EEE

(3 T = A H G e

ETI G ek R

172, o oraea & fau oo fimm mENAF T SR g

I T T 7

5 AACAGUGGTIGOUALL &

() sl mGF g

@ st fefa o s ey

B ;aﬂfqﬁaﬁ?fmﬁrﬂtm:n‘qa‘u%ﬁﬁm

o 7L AE T g A R W QU faes
T

167.

168

168,

170,

171.

172,

||

It takes vory long Lime for pineapple planis fo
pruduce flowers. Which combinstion of hormones
can be applied L0 arlificially induce flowenng in
pineapple plants throughout the year to increase
vield?

(y Aunxinand E thylens

2y Qibberellin and Cylokinin

{f  Ciblersllin and Ahacisicacid

¢y Cytolonin and Abecrme aeid

Tdentify the rells whose gerretion protects the lining
of gaslro-intestinal tract from various cnzvmes,
ili  ChisfCulla

@ Goblat Cells

& COheentic Cells

4y Duedenal Calls

Which vl the following cun be used as a bincontrol
agenl in the mweatment of plant disease ?

(L) Trichodermn
i Chioredlo.
) Anaboena
4  Lactobactllus

Phlogrm in gympooeperms lacks

(1} Mbuminous eclls and sieve eclly

(2} Sieve tubez only

i Comparnion eclls only

(M)  Both gieve tubes and companion cells

Extruaion of second polar bods from egg nucleus
OCCUTR |

(1} after entry of sperm bur before fortilization
2 aftor fertilizstion

() hefurs entry of aperm into ovum

) smultanecusly with first cleavage

Under which of the following conditions will there

be o change in the reading frame of tollowing

mRENAT

T AACAGOGUUOCT AT &

(1) Tnsertion of G at 554 position

(2} Deletionof G from & poaition

(3} InsertionofA and G at 4" and 5™ positions
rusprctively

(9  Deletion of GG from 78, 8 and o
positions
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cauratlive agent af typheid fever and the
confirmatory test for typhoid,

MPlosmedium vioax { TTTL cest

i

(2 Strepiococeus prepmarios ( Widal tesr
(31 Selmonalla fyphi  Anthrone test

) Solmonelio typhs ! Widal test |

176, Whatia the genetic disorder in which an indindud
bus an overall maszculine dove lopmeant,
Fynaccomasiiyg, and is storiles 7

1 Turner's eyndrome

21 Khnefeltor's gyndrome
W Edward syndrome

(1 Down's syndrome

177 Polyblend, a fipe

: powder of recycled modsfied
plastic, has proved

tohe o good material for

(1} making plastic sacka
) uspuga fertilizay

&Y, tenstruction of roadsg

) making tuhes At pipes
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178, Which of these following methnds is the most
auitable [or disposal of nuclear waszte ?

180,

{1)
(2]
(3

(4)

Shoat the woate into space
Bury Lthe waste under Antarcticice-cover

Ihmp the waste within rocks under deep
CEAT

Thury the wusle within rocks deep below the
Earth's purlace

Matrh the following hormones with the respective

dizeaze |

{fa) Insulin iy Addizon's disease
{ Thyroxn {ii)  Thabetez insipidus
o) (oetiecids i) ervmegaly

il Growth Hoomone {iv)  Goimree

] Diubetes mellitnz

Select the correct opiiomn.

(a}) (b)) (e} (d)

S ) T S Y €111

2y W) ) ()

@ M @ ()

@ @ 0 (1}

Select the correct option.

(1) lﬁ"h- At ang 1gth paira of ribs articulate
directly with the sternum.

(@ 1™ and 125 pairg of ribe are connected to
the sternum with the help of hyaline
eartilapge.

@ Wach rib iz a flat thin bone and all the pibs
are connected derzally to the thoracic
vertebrae and ventrally to the sternum,

{4y There are seven pairs of vertebroaternal,

three pairs of vertebrochondral and two pairs
of vertohral ribs.

—olo-



